Vce = 12 HanpsXeHue ctapta KoHTpornepa fss := 285000 e yacToTa codir cTapTa

Vh:=2 HanpsiXeHne McTepeanca KoH Tpornepa
-6
Pdl = (Vo) - 2.5- 107 3_ 0.03 Rss := 3600 Css:=22-10
Pdr:=2-1.545x 10 . Vcc2 - fss = 0.127 Tss:= Rss - Css =0.079
40 6 Pdr
Pd2 = + .— - 1=0.042 Us := 320 HanpsbkeHue nutaHug
40+75+28 6+ 10+28 2

Pd4:= (Vecc + Us) - fss-2- 10 % 0.189

Pd3:= Ve - fss - 0.6- 10 ° = 0.021
P:= Pdl + Pd2 + Pd3 + Pd4 = 0.282 HavarnbHas MOLLHOCTL NoTpebnHms koHTpornepa AN-1160
Npri = 53 Nsec = 7 Naux := 6 Rload := 4 COMPOTUBIEHMNE HaTPY3Kn
Cout = 44 10 3 BLIXOHES EMKOCTE Coo = 100 - 10- 6 €MKOCTb M0 NMUTAHNIO

out:=4.4- A ce= ' KOHTpOsnepa
U:= Nsec . Vee = 14 HanpshKeHVe Ha BbIXQOHOW EMKOCTU OO CTAaTOMHOM ANt pabobl KOHTponnepa

Naux
Tout := Cout - Rload = 0.018 11 := Ccc - Vcc2 + P =0.051
t:= 0.01 iavg27951 := 0.02
Given
- _Ccc-Vh _t _t
1avg27951 iavg27951 =P - ¢ ™ =+ (Vee. e ™!
t0 .

) := Find(t,1avg27951) 1avg279510 = 0.025 cpeaHuin Tok noTpetneHns

1avg279510

t0 = 8.062 x 10 3 BpeMsl paboTbl KOHTponepa npy nuraHum ot Ccc

lavg = M =7.641 HeobX0aMMbIN TOK 3apsiaa BbIXOOAHOM EMKOCTU

t0
6 -9 -6
w=2 -m-fss=1.791 x 10 Cr:=22-10 Lr:=120-10



T MaKchMarbHadA BeJmM4yMHa BbIXOOHOIo cpeaHero

2 2 Nsec
TOKa Npu BKIMKOYEHUU
lavgsecl = =5.182
2
1 Tout
w-Lr- N =
w-Cr TSS
t -t t
Tout TSS Tout
I 1- + 1 1-~- -2-1 1-~-
lavel == - avgsecl - e avgsecl -y -e avgsecl -y - e 340

~N-1

pacyeTHOEe 3HaYeHMe CpeaHero ToKa 3apsaa BbIXOQHOM eMKoCTY 3a Bpemsa t0

Tavgl < Iavg HEeJOoCTaTo4HO ANA cTapra



